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Q. AABC & AB= 12@1@?
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bisector) AD g =z BD:
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Q. Ina AABC, AB=12 cm and
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Q. In the given figure, if
QRS is an equilatera

X= n the value (in
d@@r@ég) of (2Y) is ?
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Q. If a straight line intersects the
sides AB and AC of a AABC at
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Q The angles of a cyclic quadrilateral are such
that one angle is three times the OthQﬂfl’}g1e35o
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ST 3w SU S IRER

P 1 X¢,TU Bt &
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HHT, 97 SU T 71T FAT 87
Q. In ASTU, Xand Y are
the points on sides ST and
SU respectlvely XY is

FSY-XT=37
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Q. If angle subtended by a
Chord on the major arc of a

o5 B64-degreethen
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Q. Circumference of a

A circle is 17.6 cm. Chord

5 Eoakaran anglg)of JP
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NPQR AAR |Q. 3T THET TSl s
e %@@M

HT¥ 48 )4 HHT | TT< AB=12.1

AT, dr PQ &t 94T &

Q. The perimeters of two
similar triangles PQR and
ABC are 54 cm and 48.4 cm,

(S§$RACH VY chAB &?éec'r

thenthe length of P
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Q The altitudes of two similar triangles
ectlvel and 9 cm. The~
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Q. 9% Arhtd & AB= 5 cm, 3T =6

(_ }l Q,Q,) x@@ cm 3T OA= ‘X’ cm. ‘X’ T {9 3Td
T

y( Z}/Hj Q. In the following figure AB = 5
cm, OT =6 cm and OA =X cm.
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